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(iii)
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(v)

AT ST B W foh 39 TA-99 § gfgd I8 23 F |
Please check that this question paper contains 23 printed pages.

FUAT = H A Toh 30 IH-9T H 38T B |

Please check that this question paper contains 38 questions.
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Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.
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ford |

Please write down the serial number of the question in the
answer-book before attempting it.
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15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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HETITIEGT 39T 1 S TIaeH] & 9IgT 3R 377 G&d] & 9ic Hilag
(i) 39 597-97 4 38 F97 & | @I I SHHaTH & |

(i) IBIH-TTGIG G@USI 8 [AyifGid 86— &, @, T, 909 & |

(iii) @S & H Y97 §&I1 18 18 % aglasedid (MCQ) @97 ¥97 &&I7 19 TG 20
SIIBYT T ao SR 1 3% & 97 2 |

(iv) @S W H 97 q&Ir21 @ 25 7% 3717 TG-ITIT (VSA) ¥HR & 2 37l & J97 & |
(v) TUE T H ¥¥T G&IT 26 T 31 7% TY-FTH1T (SA) JHR & 3 3% & Fo7 & |
(vi) TS T F J97 &1 32 @ 35 T G-3RI (LA) IR & 5 37H & 97 8 |

(vii) TUE & H 37 G&IT 36 T 38 T YU 37eIIT ITRT 4 3H1 & I97 8 | IdF
JHTT 37T H JTARF [dhcT 2 37Hh] & Y97 8 1597 71 & |

(viii) 99-99 H G857 399 757 397 131 8 | 7afd, @ve @ & 2 Y941 §, @ve T & 2 Jo7)
4, @8 g &2 Jo § a9 @S & & 3 Yo § HaR® [dhcq &1 JaerT 1591 77
g1

(ix) & STTvIH &1 T IHIadl G975T | gl avqH & = % ciore, e =TT

7 191 T 81 |
(x)  @ePpcick & I9IIT afcdd & |

@ug <h

39 @I H Fglascdid ¥4 (MCQ) &, 574 Jc3e J97 1 37 &7 & | 20x1=20
1. BEA-ABIE AU T a9 SA-A-BIEA T w7 T F1 A4, (LCM) | -

A 10 B) 6

() (D) 18

2. A TYW n Whd GEAA! I HIET %n 8, Al n I AF B :

A 5 B 4

©C 9 (D) 10
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

1.

The LCM of the smallest prime number and the smallest odd composite

number is :
(A) 10 B) 6
< 9 (D) 18

If the mean of the first n natural numbers is 5?11 , then the value of n is :

A 5 (B) 4
() (D) 10

15-30/5/3 P.T.O.



[=1 4308
=
=L

3. T 5tan0-12=0 %, A sin0 HIAA 7 :

5 12
(A) D) (B) 13
5 12
(C) 13 (D) =

4.  EATR =T (A.P.) V18, /50, /98, ... I T (<NAT) U8 & :

(A) 128 (B) +140
(C) 162 (D) 200

5. @ g ARfd H, AABCH, DE || BC® | I AD = 24 cm, DB = 4 cm T
AE=2cm®, a ACHhl T @ :

10 3

(A) ?cm (B) Ecm
©) ?cm D) 12em

6. < TS P W, RJ AT RL, I W Giet T g TGN § | ARG £ RIL = 42°
3, d £JOLH U9 2 :

(B) 84°
(D) 138°

15-30/5/3




OO
[CEEE

3. If 5tan 06— 12 =0, then the value of sin 0 is:

5 12
(A) D) (B) 13
5 12
(C) 13 (D) =

4. The next (4th) term of the A.P. V18, /50, /98, ... is:

(A) 128 (B) 4140
(C) 162 (D) 200

5. In the given figure, in A ABC, DE || BC. If AD = 2:4 cm, DB = 4 cm and
AE = 2 cm, then the length of AC is :

10 3
(A) 3 cm (B) 10 cm
©) % em D) 12em

6. In the given figure, RJ and RL are two tangents to the circle. If
Z RJL = 42°, then the measure of £ JOL is :

(A)  42° (B) 84°
C) 96° (D) 138°

15-30/5/3 P.T.O.



10.

11.

12.

o

21cmﬁ®TW§ﬁ%WﬁW@,“ﬁ§_ﬁ%%W 60° T IV AN
AT g, o1 YHATT 7 :

(A) 22cm (B) 43 cm
(C) 64cm (D) 462 cm

foama Tfiehtor 5x2 — 6x + 21 =0 % Al < ANTHA AT PHGA H 3TIE & :
(A 5:21 B 2:7
(C) 21:5 (D) 7:2

TR At —11,— 8, — 5, ..., 49 1 37d & (YW T 3TR) 1497 9E 2 :
A 7 (B) 10
(C) 13 (D) 28

T HHR I auad it W U W@ S A derE q49R A SarE A V3 T R |
T 1 A R

(A 30° (B) 45°
(C) 60° (D) 90°

TEAAT 1, 2, 3, ..., 15 H ¥ Ageadl Il T3 T&T hi 4 % Th U 8H i
TRIehdT 1§ 2

4 6
(A) I (B) 15

3 5
(C) 5 (D) I

-qﬁ g =23inA,§ =2c05A%,?—h X2+y2 q;[]:n:{%:

(A) 36 B) 9
(C) 6 (D) 18

15-30/5/3
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7. The perimeter of the sector of a circle of radius 21 cm which subtends an
angle of 60° at the centre of circle, is :

(A)  22cm (B) 43 cm
(C) 64cm (D) 462 cm
8. The ratio of the sum and product of the roots of the quadratic equation
5x2-6x+21=01is:
(A 5:21 B 2:7
(C) 21:5 D) 7:2

9. The 14th term from the end of the A.P. —11,-8,—5, ..., 49 is:
A 7 (B) 10
(C) 13 (D) 28

10. The length of the shadow of a tower on the plane ground is +/3 times the
height of the tower. The angle of elevation of the Sun is :

(A 30° (B)  45°
(C) 60° (D) 90°

11. What is the probability that a number selected randomly from the
numbers 1, 2, 3, ..., 15 is a multiple of 4 ?

4 6
(A) I (B) 15

3 5
(C) 5 (D) I

12, If % =2sin A, % = 2 cos A, then the value of x2 + y?2 is:

(A) 36 B) 9
(C) 6 (D) 18

15-30/5/3 P.T.O.
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IS o AT B FTFIG p(x) = kx? — 30x + 45k o IJFH & qAM o+ = af , Al k
A S

2 3
(A) -3 (B) -3

3 2
(C) 5 (D) 3

12 cm 559 a9t 990 61 T AW 10m em @ B | 3 AW GRI I % g W
AT I R

A 120° (B) 6°
(C) 75° (D) 150°

T qEIST 28, 44, 132 HT A.°. (LCM) B :

(A) 258 (B) 231
(C) 462 (D) 924

10 cm TS Tl Weh I <1 Tk SHAT, I o shg T GHHIU AR hidl g | dql
StiaT B AET8 (ecm W) @ :

(A)  5v2 (B) 10v2
5
C —_ D) 5
(®) 72 (D)

15-30/5/3
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If o and B are the zeroes of the polynomial p(x) = kx? — 30x + 45k and

o + B = af, then the value of k is :

3
A -— (B) -3

3 2
(C) 5 (D) 3

The length of an arc of a circle with radius 12 cm is 10n cm. The angle

subtended by the arc at the centre of the circle, is :
(A)  120° B) 6°
(C) 75° (D)  150°

The LCM of three numbers 28, 44, 132 is :
(A) 258 (B) 231
(C) 462 (D) 924

A chord of a circle of radius 10 cm subtends a right angle at its centre.
The length of the chord (in cm) is :

(A) 52 (B) 10V2

(®) (D) 5

5

15-30/5/3 P.T.O.
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iRl ™ 3x + 4y =5 AT 6x + 8y = 7 g1 FAfafga # @ fhm g&r
o1 T @ HEia 8 @8 2

(A) THTR
(B) Ufa=ad
(C) Gt

(D) Uh-GH o e

I IS99 &I S 281 AT 1249 Sl HIT i I SHAST: 5 AT 7 9% el
8, 8

(A) 23 (B) 276

(C) 138 (D) 69

97 G&IT 19 37K 20 YFIT UG % RT 397 3 | 1 F97 13T 77 3 577 7 &1
SHUHYT (A) T G H1 T (R) GRT 371 1371 7377 & | 57 J%71 & T&l IR 714 157
77 BT (A), (B), (C) 3% (D) 7 8 g7a¢ 5w |

19.

20.

(A) AR (A) 3R Th (R) THI H&l & TR @b (R), AR (A) i &
SITEAT hidT © |

(B) AfYHAT (A) 3R T (R) HT Tl &, Tg dob (R), 3 (A) hT T&l
TS 7gT Hdl 7 |

(C) 3fyehed (A) U&l 8, Tg Toh (R) T & |
(D)  3freheH (A) Terd B, 90 doh (R) T8 B |

ST (A) : A TGIG ! AT RN & 7 |
7% (R) : Teh AT =L 9gUG shi °1d 0 Bl & |

37T (A) :  ABCD U 99@d g f5&@H DC || ABB | E a1 F 3HI;: AD qef

5 AE  BF
BCW UH fog 2 fh EF || ABR | I = = 70

T (R) : foret Tueie 61 TuTa Yol & HHIAK DI W@ STEHGL Y
Sl AT § Sied! 7 |

15-30/5/3 Page 10
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Which out of the following type of straight lines will be represented by
the system of equations 3x+4y=5 and 6x+8y =7 ?

(A) Parallel

(B) Intersecting

(C) Coincident

(D)  Perpendicular to each other

The greatest number which divides 281 and 1249, leaving remainder 5
and 7 respectively, is :

A) 23 (B) 276
(C) 138 (D) 69

Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled as Assertion (A) and the other is labelled as

Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

19.

20.

15-30/5/3 Page 11 P.T.O.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Assertion (A) : Degree of a zero polynomial is not defined.

Reason (R): Degree of a non-zero constant polynomial is 0.

Assertion (A) : ABCD is a trapezium with DC || AB. E and F are points

on AD and BC respectively, such that EF || AB. Then

AE _ BF
ED FC’
Reason (R): Any line parallel to parallel sides of a trapezium divides

the non-parallel sides proportionally.
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QU @
37 GUE T 37la 7Tg-IRI% (VSA) FHR & J97 &, o8 I3 & 2 37 5 | 5x2=10
21. 52 U<l i AT I Uh TS H O TSt qUT g2 o SIEIME, S qAT ok R
fou MU | AW o P D WE Hed b 91G ITH H IGeSAT T gl fHehTel
T | fefiafea v & T 89 b wilResar sira hifs
OEEREEEIR S
(i) U ATA T 1 g1
22. (a) I 3 cm B It Th g0 W G T8 @ TR-L@E TEL 60° % hIv T
Feh! 8, A1 TcIeh TINGT hl A8 AT hIIT |
AT
(b) Toag HfvT fof g & fordll =@ & o/l @ @i T8 Tnid@nd oW
TR B 2 |
23. (a) 98 3TUM 1 g & foig P(- 4, 6), g3t A(- 6, 10) 791 B(3, - 8)
! A a1 Targvs st faford st @ |
YT
(b) fog i ok feig (3, 0), (6, 4) T (- 1, 3) Th wHigaTg Bigst = ¥
3|
24, ZI'%OL,BE@:IEp(X)=5X2—6X+1%?@%%,?‘ﬁa+ﬁ+aﬁwtﬂq3ﬂﬁ
i |
25. HM T hIMT :
2 tan 30°. sec 60°. tan 45°
1—sin? 60°
15-30/5/3
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. The king, queen and ace of clubs and diamonds are removed from a deck
of 52 playing cards and the remaining cards are shuffled. A card is
randomly drawn from the remaining cards. Find the probability of

getting
(1) a card of clubs.

(11) a red coloured card.

22. (a) If two tangents inclined at an angle of 60° are drawn to a circle of

radius 3 cm, then find the length of each tangent.
OR

(b)  Prove that the tangents drawn at the ends of a diameter of a circle

are parallel.

23. (a) Find the ratio in which the point P(— 4, 6) divides the line segment
joining the points A(— 6, 10) and B(3, — 8).

OR
(b)  Prove that the points (3, 0), (6, 4) and (— 1, 3) are the vertices of an

isosceles triangle.

24. Ifo, B are zeroes of the polynomial p(x) = 5x2 — 6x + 1, then find the value

of a +  + af.

25. Evaluate:

2 tan 30°. sec 60°. tan 45°
1 —sin? 60°

15-30/5/3 Page 13 P.T.O.
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Qug T
37 GUS 4 Y- (SA) FHR & F97 &, 578 Jedeh & 3 37 & | 6x3=18
26. fag shifore f -
ta? 0~ cot® = sec? 0 — cosec? 0
sin O cos O

27. 21 cm B I U 99 W U BI@US HIET T | HSIEUS R hGE i
150° 8 | 38 Breu@us & 919 &l |« a1 Beugve &1 &% Jd I |

28. (a) Taghifou fr V3 T 4wy T 2 |

AT

(b) fag T 6 (V2 + VB wh st s 3, fon o & 6 6w
STafE T R |

29, I Touer oo v @19 39Tl U | fA=feiRad & gTed S Al IRk FTd

(i)  HH-GU-HH Tk &

(i) HF Uk 9
(i) < Tod dem e ue

30. fag Hif for vk g < gford FHTR IgYS T IEEqyS BT ® |

31. (a) I Uk GHTR A<l & UgA 14 Ye 1 ATHA 1050 & 9T 3HHI Y9 U2
10 8, 91 39 9T ST T 2041 U a7 ndl U ITd shitolT |

AT

(b) Teh GHIR G 1 YA U2 5, 3(qH U 45 94T T Igl sl JTha 400
2 | 3H GG At o Uel shl ST dAT 9 AT HId hIfY |

15-30/5/3 Page 14
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks
each. 6x3=18

26. Prove that:

tan 6 — cot O
sin 0 cos 0

= sec2 0 — cosec2 0

27. A sector is cut from a circle of radius 21 cm. The central angle of the
sector is 150°. Find the length of the arc of this sector and the area of the
sector.

28. (a) Prove that +/3 is an irrational number.

OR

2
(b)  Prove that (x@ +43 ) is an irrational number, given that /6 is

an irrational number.

29. Three unbiased coins are tossed simultaneously. Find the probability of
getting :
1) at least one head.
(i1)  exactly one tail.

(iii)) two heads and one tail.
30. Prove that the parallelogram circumscribing a circle is a rhombus.
31. (a) If the sum of the first 14 terms of an A.P. is 1050 and the first term
is 10, then find the 20" term and the nth term.

OR

(b)  The first term of an A.P. is 5, the last term is 45 and the sum of all
the terms is 400. Find the number of terms and the common
difference of the A.P.

15-30/5/3 Page 15 P.T.O.
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39 GV § -3TIT (LA) YR & J97 &, 578 Jedb & 5 37% & / 4x5=20

32. (a) @ 7S MR H, AFEC=AGDBTN £1=-,2% | Tag Hifvuw &
A ADE ~ A ABC.

AT

(b) Th AABC 1 YoT{ AB 3 AC T HIfedhl AD hHl: Th 31 By
A PQR %1 4S13fl PQ 31 PR q91 Hifedsht PM & @AM & | g¥isy
f% A ABC ~ A PQR.

33. (a) ‘K g AW Fq shitoe fges fow fgama e
(k + 1)x2 - 6(k + Dx + 3(k + 9) = 0, k # — 1 o draeh I T0H A ¢ |

AT

(b) e SAfh h! MY I 9 I Y o 7 hl G 2 | 3TMS I T, 36
fth hl A 3O 9 hT AP & dF A F 4 a9 Afees gl | IAH
A AR 1A ST |

34. TH TSHh U Y § 15 M I F9E W T faght 7, T & g I & &
T O o TIRE 9T U1 o IFIA AT TITHT hIU HHI: 30° TAT 45° 3 | 39
G- aTel 3R ! ST 1 hIT | (43 = 1-732 T T hifow)

15-30/5/3 Page 16



This section comprises Long Answer (LA) type questions of 5 marks each.

32.

33.

34.

15-30/5/3

(a)

(b)

(a)

(b)
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SECTION D

In the given figure, AFEC=z=AGDBand £ 1= /£ 2.
Prove that A ADE ~ A ABC.

OR

Sides AB and AC and median AD of a A ABC are respectively
proportional to sides PQ and PR and median PM of another A PQR.
Show that A ABC ~ A PQR.

Find the value of ‘K’ for which the quadratic equation
k + Dx2 - 6(k + 1)x + 3(k + 9) = 0, k # — 1 has real and equal roots.

OR

The age of a man is twice the square of the age of his son. Eight
years hence, the age of the man will be 4 years more than three
times the age of his son. Find their present ages.

From a window 15 metres high above the ground in a street, the angles of

elevation and depression of the top and the foot of another house on the

opposite side of the street are 30° and 45° respectively. Find the height of
the opposite house. (Use V3 =1-732)

Page 17 P.T.O.
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35. THh S o= 9Tl 3T ATEhi ol A= § T8 Apid H fe@m firema # 5@ <
2 | SeHehR FIemd &1 31aie SI™ 56 cm &, g Tad & fael mar &
Th IWQ BHT Al 2 Forew ey < i 9 & Sl @ | Afe femm
9T 10 cm B, o T b sarel enfian aon ardfees eniear 3a i |

e
N

—

T

Wis &
59 TS H 3 YK 37eqT STETRT J97 & 1578 G & 4 37 & | Ixd=12

Th{0T 3HETAA - 1

36. UH Sfl=l Uk ol o AN I @ | A 4 i< shl HHT W TH-GR ¥ 1 m
g T 3 U % UIY IMY | g = i AT 5 diei § 1 <18 @ |
3O A ok T I A i % 3 U BYEeR &9 T4 | S
feufa o, arelt 3 &1 10 & 9 6 Aee off [Neid e IR &1 =1e s |

BOOUO OO OOV OC

P

v

VAU OO OO O O OV
39 o IMUR W, frefefaa et 3w G
(i) A qo-fag WL, A PQR & i o fcsres a1 & ? 1

15-30/5/3 Page 18
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35. A juice seller was serving his customers using glasses as shown in the
figure. The inner diameter of the cylindrical glass was 5:6 cm, but the
bottom of the glass had a hemispherical raised portion which reduced the
capacity of the glass. If the height of the glass was 10 cm, find the
apparent capacity and the actual capacity of the glass.

e
N

—

TR
SECTION E

This section comprises 3 case study based questions of 4 marks each. 3x4=12

Case Study -1

36. A garden is in the shape of a square. The gardener grew saplings of
Ashoka tree on the boundary of the garden at the distance of 1 m from
each other. He wants to decorate the garden with rose plants. He chose a
triangular region inside the garden to grow rose plants. In the above
situation, the gardener took help from the students of class 10. They
made a chart for it which looks like the given figure.

GEV S SO O OO O OCy
v 5
v o
v o
v P o
v 5
v / 5
9 o
o Q o
o O

D
VAOY OO OO OO OY V¢

Based on the above, answer the following questions :

1) If A is taken as origin, what are the coordinates of the vertices of
APQR? 1

15-30/5/3 Page 19 P.T.O.



37.

(i) (a) giEl PQ T QR ¥ HIR |
T
(b) Togall P ol Rl A a1t {@MEUS i 2 : 1 % 31=: IHSH
T a1 feig o feanes S i |

(iti)  FTa T fF =1 A PQR T THfgag By 7 |

ThIT AT - 2

e I1 Hrsforad I Sl nfdfafe™y dae 3t fadre S8 qeite foer &
IRGH hl A Rl & | dred O TeIih s | Aee fiadl 8 | S=1 <hl giedl
3R WTEUfS@T Aofed Bt § 3R 3T oo agd sl TuEAT %H Bt 8 | Th
TRl o s fren et 3 31on Tt TRER # Tk $-Tgpa T gl
TR o o1 o T | S % @9g g0 100 m i g | forn mon av
:hZ%QTTPIIT,GﬁﬁmW%:

q (AHUS H) | 0-20 | 20-40 | 40-60 | 60—80 | 80— 100
ST hT & 8 10 13 6 3

T o MR W, Frefefaa ye 1 & 3w G
() W feu 7T ARSI h1 AITH I FT G ?

15-30/5/3 Page 20
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(i1) (a) Find distances PQ and QR.

OR

(b)  Find the coordinates of the point which divides the line

segment joining points P and R in the ratio 2 : 1 internally.

(iii) Find out if A PQR is an isosceles triangle.

Case Study - 2

37. Activities like running or cycling reduce stress and the risk of mental
disorder like depression. Running helps build endurance. Children
develop stronger bones and muscles and are less prone to gain weight.
The physical education teacher of a school has decided to conduct an inter
school running tournament in his school premises. The time taken by a
group of students to run 100 m, was noted as follows :

Time

(in seconds) 0-20 20-40

40 — 60

60 — 80

80 —100

Number of

students 8 10

13

Based on the above, answer the following questions :

1) What is the median class of the above given data ?

15-30/5/3 Page 21
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(i) () < g0 HE | SHAT gR o T 71w {9 19 hINT | 2
YT

(b) SN feu U SRS H TgAH [ HINT | 2

(iii) Tord" BET 3 60 KIS ¥ HH THY Tt ? 1

Th0T 3TETIT - 3

38. THA dcs YNd o HaY I TIRSH UTehi § § Teh 8 1 |l 37 o AT
foTT TwTeeh Fail, ST AN AR HARSH faehedl i T fafag s@ar JgH
A 8 | T b A Ufdafsed “afex fomren” & faw Smn wmar B, S os@
ITTETTEh S 3R HARSH o T Teh QIehIS™ Tqed SHTAT & | Teh I Tdehe S[ooh
T 150 Ifd s=a1 aA1 T 250 T 99 2 |

T T, Uk o @ A 98 9 foh 300 feshe farehl 8 dem T 55,000 THA FU R |
ITYH o IMYR I, Tfeiiad Jei o I T ¢
() Ife 39 7 =W s= ) TS x 9YT IR hl AT y 7, o & T

feafa =1 e w9 @ fafgo 1

(i) (a) 39 HARSH 9k ¥ 39 faq forad o= 31w 2 2
T

(b)  3H HASH Uteh H 39 e fordd a3%eh 31w ? 2

(iii) HIRSH 9k H Ife 250 = qAT 100 II&h AW, d7 feha=1 TR Teha &I 2 1
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(i1) (a) Find the mean time taken by the students to finish the race.

OR
(b)  Find the mode of the above given data.

(iii) How many students took time less than 60 seconds ?

Case Study -3

Essel World is one of India’s largest amusement parks that offers a
diverse range of thrilling rides, water attractions and entertainment
options for visitors of all ages. The park is known for its iconic “Water
Kingdom” section, making it a popular destination for family outings and
fun-filled adventure. The ticket charges for the park are ¥ 150 per child

and ¥ 250 per adult.

On a day, the cashier of the park found that 300 tickets were sold and an
amount of ¥ 55,000 was collected.
Based on the above, answer the following questions :

(1) If the number of children visited be x and the number of adults
visited be y, then write the given situation algebraically.

(i1) (a) How many children visited the amusement park that day ?
OR
(b) How many adults visited the amusement park that day ?

(111) How much amount will be collected if 250 children and 100 adults
visit the amusement park ?
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